JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 11/02/2019

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 8:13:43 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 800 | 800,000 | 13.6823 | | (10,945,840.00) Member | Sell |
| 8:13:44 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 800 | 800,000 | 13.6515 | | 10,921,200.00 Member | Buy |
| 8:21:19 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 7,430 | 7,430,000 | 13.6730 | | (101,590,390.00) Member | Sell |
| 8:50:31 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 300 | 300,000 | 13.6450 | | 4,093,500.00 Member | Buy |
| 8:54:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.6535 | | (2,730,700.00) Member | Sell |
| 9:01:11 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.6524 | | (40,957.20) Member | Sell |
| 9:01:11 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.6524 | | 40,957.20 Client | Buy |
| 9:13:46 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.6535 | | 2,730,700.00 Client | Buy |
| 9:23:53 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.6566 | | 1,365,660.00 Member | Buy |
| 9:23:53 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.6566 | | (1,365,660.00) Client | Sell |
| 9:25:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.6709 | | (68,354.50) Member | Sell |
| 9:25:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.6709 | | 68,354.50 Client | Buy |
| 9:39:38 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.6681 | | (6,834,050.00) Member | Sell |
| 9:48:35 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6702 | | (136,702.00) Client | Sell |
| 9:56:20 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.6945 | | (54,778.00) Member | Sell |
| 9:56:20 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.6945 | | 54,778.00 Client | Buy |
| 9:58:31 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6752 | | 136,752.00 Member | Buy |
| 9:58:31 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6752 | | (136,752.00) Client | Sell |

Page 1 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ S | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------|--------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,585 | 1,585,000 | 13.6730 | | 21,671,705.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 937 | 937,000 | 13.6730 | | 12,811,601.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 335 | 335,000 | 13.6730 | | 4,580,455.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 404 | 404,000 | 13.6730 | | 5,523,892.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 52 | 52,000 | 13.6730 | | 710,996.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 3,562 | 3,562,000 | 13.6730 | | 48,703,226.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 529 | 529,000 | 13.6730 | | 7,233,017.00 Client | Buy |
| 10:17:59 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 26 | 26,000 | 13.6730 | | 355,498.00 Client | Buy |
| 10:19:37 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6800 | | 136,800.00 Client | Buy |
| 10:19:48 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 600 | 600,000 | 13.6796 | | 8,207,760.00 Member | Buy |
| 10:23:13 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.6650 | | (2,049,750.00) Member | Sell |
| 10:23:13 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.6650 | | 2,049,750.00 Client | Buy |
| 10:24:18 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.6736 | | 2,734,720.00 Client | Buy |
| 10:24:18 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.6736 | | (2,734,720.00) Member | Sell |
| 10:40:03 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.6500 | | 2,047,500.00 Client | Buy |
| 10:40:03 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.6500 | | (2,047,500.00) Member | Sell |
| 10:51:06 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8200 | | 414,600.00 Client | Buy |
| 10:51:06 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8200 | | (414,600.00) Member | Sell |
| 11:05:45 | \$ / R 14/06/2019 | Foreign Exchange Future | С | 15.62 | 1 | 1,000 | 5,035 | 5,035,000 | 126.6200 | | (637,531,700.00) Member | Sell |
| 11:05:45 | \$ / R 14/06/2019 | Foreign Exchange Future | Р | 13.88 | 1 | 1,000 | 5,035 | 5,035,000 | 532.3300 | | 2,680,281,550.00 Member | Buy |
| 11:05:45 | \$ / R 13/08/2019 | Any day expiry | Р | 14.48 | 1 | 1,000 | 3,147 | 3,147,000 | 983.8700 | | 3,096,238,890.00 Member | Buy |
| 11:05:45 | \$ / R 13/08/2019 | Any day expiry | С | 16.35 | 1 | 1,000 | 3,147 | 3,147,000 | 146.2900 | | (460,374,630.00) Member | Sell |
| 11:20:17 | \$ / R 14/06/2019 | Foreign Exchange Future | Р | 13.88 | 1 | 1,000 | 5,035 | 5,035,000 | 522.3300 | | 2,629,931,550.00 Member | Buy |
| 11:20:31 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6900 | | 136,900.00 Client | Buy |
| 11:20:31 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.6900 | | (136,900.00) Member | Sell |
| 11:21:14 | \$ / R 13/08/2019 | Any day expiry | Р | 14.48 | 1 | 1,000 | 3,147 | 3,147,000 | 973.8700 | | 3,064,768,890.00 Member | Buy |
| 11:42:39 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7113 | | 137,113.00 Client | Buy |
| 11:42:39 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7113 | | (137,113.00) Member | Sell |
| 11:42:47 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.8679 | | 27,735.80 Client | Buy |
| 11:42:47 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.8679 | | (27,735.80) Member | Sell |
| 11:51:07 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7100 | | (13,710.00) Client | Sell |
| 11:51:07 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7100 | | 13,710.00 Member | Buy |
| 11:53:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.7302 | | (13,730,200.00) Member | Sell |
| 11:53:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.7302 | | 13,730,200.00 Client | Buy |
| 11:55:08 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.8940 | | (55,576.00) Member | Sell |
| 11:55:08 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.8940 | | 55,576.00 Client | Buy |
| 11:55:08 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.7390 | | (54,956.00) Client | Sell |
| 11:55:08 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 4 | 4,000 | 13.7390 | | 54,956.00 Client | Buy |
| 11:55:30 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7300 | | 1,373,000.00 Member | Buy |
| 11:58:44 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7202 | | (137,202.00) Client | Sell |
| 11:58:44 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7202 | | 137,202.00 Member | Buy |
| 12:02:31 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8900 | | (416,700.00) Client | Sell |
| 12:02:31 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8900 | | 416,700.00 Client | Buy |

Page 2 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 12:03:00 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5,000 | 5,000,000 | 13.7235 | | (68,617,500.00) Member | Sell |
| 12:03:00 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5,000 | 5,000,000 | 13.7235 | | 68,617,500.00 Client | Buy |
| 12:05:07 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2,600 | 2,600,000 | 13.7254 | | (35,686,040.00) Client | Sell |
| 12:05:07 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.7357 | | 6,867,850.00 Member | Buy |
| 12:10:34 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 45 | 45,000 | 13.7340 | | 618,030.00 Member | Buy |
| 12:10:34 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 45 | 45,000 | 13.7340 | | (618,030.00) Client | Sell |
| 12:11:02 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.7463 | | 27,492.60 Client | Buy |
| 12:11:02 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.7463 | | (27,492.60) Client | Sell |
| 12:11:02 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.9013 | | 27,802.60 Client | Buy |
| 12:11:02 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.9013 | | (27,802.60) Member | Sell |
| 12:13:43 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 6,869 | 6,869,000 | 13.6668 | | 93,877,249.20 Member | Buy |
| 12:15:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7270 | | 1,372,700.00 Member | Buy |
| 12:15:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7270 | | (1,372,700.00) Client | Sell |
| 12:15:51 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7279 | | 2,745,580.00 Member | Buy |
| 12:15:51 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7279 | | (2,745,580.00) Client | Sell |
| 12:17:45 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7287 | | 1,372,870.00 Member | Buy |
| 12:17:45 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7287 | | (1,372,870.00) Client | Sell |
| 12:21:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7252 | | 137,252.00 Member | Buy |
| 12:21:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7252 | | (137,252.00) Client | Sell |
| 12:22:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7205 | | 13,720.50 Member | Buy |
| 12:22:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7205 | | (13,720.50) Client | Sell |
| 12:24:57 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8800 | | (416,400.00) Client | Sell |
| 12:24:57 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8800 | | 416,400.00 Member | Buy |
| 12:33:08 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7420 | | (2,748,400.00) Member | Sell |
| 12:39:01 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7501 | | (13,750.10) Client | Sell |
| 12:39:01 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7501 | | 13,750.10 Member | Buy |
| 12:43:59 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7696 | | (688,480.00) Member | Sell |
| 12:44:46 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.7652 | | (13,765,200.00) Member | Sell |
| 12:44:46 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.7652 | | 13,765,200.00 Client | Buy |
| 12:47:38 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7718 | | 13,771.80 Member | Buy |
| 12:47:38 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7718 | | (13,771.80) Client | Sell |
| 12:48:38 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.7770 | | 275,540.00 Member | Buy |
| 12:49:03 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7730 | | 1,377,300.00 Member | Buy |
| 12:49:26 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.7770 | | (275,540.00) Client | Sell |
| 12:49:58 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.7272 | | (274,544.00) Client | Sell |
| 12:49:58 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7272 | | (1,372,720.00) Client | Sell |
| 12:53:28 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7800 | | (68,900.00) Client | Sell |
| 12:53:28 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7800 | | 68,900.00 Member | Buy |
| 12:54:49 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7761 | | (13,776.10) Client | Sell |
| 12:54:49 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7761 | | 13,776.10 Member | Buy |
| 12:58:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 750 | 750,000 | 13.7888 | | (10,341,600.00) Member | Sell |
| 12:58:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 750 | 750,000 | 13.7888 | | 10,341,600.00 Client | Buy |
| 13:00:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.7819 | | (6,890,950.00) Member | Sell |

Page 3 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 13:00:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.7819 | | 6,890,950.00 Membe | r Buy |
| 13:05:40 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5,000 | 5,000,000 | 13.7654 | | (68,827,000.00) Member | r Sell |
| 13:07:29 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 4,750 | 4,750,000 | 13.7386 | | (65,258,350.00) Member | r Sell |
| 13:07:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7386 | | 3,434,650.00 Client | Buy |
| 13:07:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7386 | | (3,434,650.00) Member | r Sell |
| 13:10:50 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7800 | | 13,780.00 Member | r Buy |
| 13:10:50 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7800 | | (13,780.00) Client | Sell |
| 13:11:03 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.9505 | | (697,525.00) Member | r Sell |
| 13:11:03 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.9505 | | 697,525.00 Client | Buy |
| 13:11:03 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7955 | | (689,775.00) Client | Sell |
| 13:11:03 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7826 | | 1,378,260.00 Client | Buy |
| 13:11:05 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7823 | | (68,911.50) Client | Sell |
| 13:11:05 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7823 | | 68,911.50 Member | r Buy |
| 13:12:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 13 | 13,000 | 13.8008 | | (179,410.40) Client | Sell |
| 13:12:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 13 | 13,000 | 13.8008 | | 179,410.40 Member | r Buy |
| 13:12:30 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8100 | | (690,500.00) Client | Sell |
| 13:12:30 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8100 | | 690,500.00 Member | r Buy |
| 13:12:31 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8100 | | (1,381,000.00) Client | Sell |
| 13:12:31 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8100 | | 1,381,000.00 Member | r Buy |
| 13:17:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.7978 | | 413,934.00 Client | Buy |
| 13:17:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.7978 | | (413,934.00) Member | r Sell |
| 13:19:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.7927 | | 124,134.30 Member | r Buy |
| 13:19:32 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.7927 | | (124,134.30) Client | Sell |
| 13:22:52 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 44 | 44,000 | 13.9502 | | (613,808.80) Member | r Sell |
| 13:22:52 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 44 | 44,000 | 13.9502 | | 613,808.80 Client | Buy |
| 13:22:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 44 | 44,000 | 13.7952 | | (606,988.80) Client | Sell |
| 13:22:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 44 | 44,000 | 13.7952 | | 606,988.80 Client | Buy |
| 13:22:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 56 | 56,000 | 13.7970 | | (772,632.00) Member | r Sell |
| 13:22:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 56 | 56,000 | 13.7970 | | 772,632.00 Client | Buy |
| 13:25:08 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 41 | 41,000 | 13.7835 | | (565,123.50) Client | Sell |
| 13:25:08 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 41 | 41,000 | 13.7835 | | 565,123.50 Member | r Buy |
| 13:28:28 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3,530 | 3,530,000 | 13.7654 | | 48,591,862.00 Client | Buy |
| 13:28:28 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 720 | 720,000 | 13.7654 | | 9,911,088.00 Client | Buy |
| 13:28:29 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 750 | 750,000 | 13.7654 | | 10,324,050.00 Client | Buy |
| 13:30:59 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8047 | | 345,117.50 Member | r Buy |
| 13:31:02 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 350 | 350,000 | 13.8046 | | 4,831,610.00 Membe | |
| 13:33:06 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7768 | | 13,776.80 Membe | |
| 13:33:06 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7768 | | (13,776.80) Client | Sell |
| 13:35:36 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8047 | | (345,117.50) Client | Sell |
| 13:35:44 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7840 | | 13,784.00 Membe | |
| 13:35:44 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7840 | | (13,784.00) Client | Sell |
| 13:37:25 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 300 | 300,000 | 13.6350 | | 4,090,500.00 Membe | |
| 13:37:25 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 300 | 300,000 | 13.6350 | | (4,090,500.00) Client | Sell |

Page 4 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Put | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|--------------|--------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 13:37:39 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 25,000 | 25,000,000 | 14.1500 | | 353,750,000.00 Member | Buy |
| 13:37:39 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 25,000 | 25,000,000 | 76.5300 | | (1,913,250,000.00) Member | Sell |
| 13:37:39 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5,750 | 5,750,000 | 13.7762 | | (79,213,150.00) Member | Sell |
| 13:41:05 | \$ / R 28/06/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 753 | 753,000 | 13.9688 | | (10,518,506.40) Client | Sell |
| 13:41:05 | \$ / R 28/06/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 753 | 753,000 | 13.9688 | | 10,518,506.40 Member | Buy |
| 13:44:05 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 69 | 69,000 | 13.7899 | | (951,503.10) Client | Sell |
| 13:44:05 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 69 | 69,000 | 13.7899 | | 951,503.10 Member | Buy |
| 13:44:26 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7900 | | (13,790.00) Client | Sell |
| 13:44:26 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.7900 | | 13,790.00 Client | Buy |
| 13:45:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8000 | | (1,380,000.00) Client | Sell |
| 13:45:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8000 | | 1,380,000.00 Client | Buy |
| 13:45:55 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | 138,000.00 Client | Buy |
| 13:45:55 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | (138,000.00) Client | Sell |
| 13:46:00 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8000 | | (13,800.00) Client | Sell |
| 13:46:00 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8000 | | 13,800.00 Client | Buy |
| 13:46:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | (138,000.00) Client | Sell |
| 13:46:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | 138,000.00 Client | Buy |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 23,750 | 23,750,000 | 13.8640 | | 329,270,000.00 Member | Buy |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 2,500 | 2,500,000 | 518.8300 | | (1,297,075,000.00) Member | Sell |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8640 | | 17,330,000.00 Member | Buy |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 47,500 | 47,500,000 | 518.8300 | | (24,644,425,000.00) Member | Sell |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8640 | | (17,330,000.00) Client | Sell |
| 13:47:12 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 2,500 | 2,500,000 | 518.8300 | | 1,297,075,000.00 Client | Buy |
| 13:48:02 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.9587 | | (1,395,870.00) Member | Sell |
| 13:48:02 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.9587 | | 1,395,870.00 Client | Buy |
| 13:48:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8037 | | 1,380,370.00 Client | Buy |
| 13:48:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8037 | | (1,380,370.00) Client | Sell |
| 13:48:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 69 | 69,000 | 13.8054 | | (952,572.60) Member | Sell |
| 13:48:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 69 | 69,000 | 13.8054 | | 952,572.60 Client | Buy |
| 13:52:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 248 | 248,000 | 13.8000 | | (3,422,400.00) Client | Sell |
| 13:52:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 248 | 248,000 | 13.8000 | | 3,422,400.00 Client | Buy |
| 13:53:05 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 112 | 112,000 | 13.7928 | | (1,544,793.60) Client | Sell |
| 13:53:05 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 112 | 112,000 | 13.7928 | | 1,544,793.60 Member | Buy |
| 13:57:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7386 | | 2,747,720.00 Client | Buy |
| 13:57:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7386 | | 3,434,650.00 Client | Buy |
| 13:57:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 125 | 125,000 | 13.7386 | | 1,717,325.00 Client | Buy |
| 13:57:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7386 | | 1,373,860.00 Client | Buy |
| 13:57:24 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 525 | 525,000 | 13.7386 | | 7,212,765.00 Client | Buy |
| 13:57:24 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 3,550 | 3,550,000 | 13.7386 | | 48,772,030.00 Client | Buy |
| 14:01:57 | \$ / R 14/06/2019 | Foreign Exchange Future | Р | 13.88 | 1 | 1,000 | 3,087 | 3,087,000 | 522.3300 | | (1,612,432,710.00) Client | Sell |
| 14:01:57 | \$ / R 14/06/2019 | Foreign Exchange Future | Р | 13.88 | 1 | 1,000 | 1,948 | 1,948,000 | 522.3300 | | (1,017,498,840.00) Client | Sell |
| 14:02:27 | \$ / R 14/06/2019 | Foreign Exchange Future | С | 15.62 | 1 | 1,000 | 1,948 | 1,948,000 | 126.6200 | | 246,655,760.00 Client | Buy |
| 14:02:28 | \$ / R 14/06/2019 | Foreign Exchange Future | С | 15.62 | 1 | 1,000 | 3,087 | 3,087,000 | 126.6200 | | 390,875,940.00 Client | Buy |

Page 5 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Put | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|--------------|--------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 14:03:21 | \$ / R 13/08/2019 | Any day expiry | Р | 14.48 | 1 | 1,000 | 1,972 | 1,972,000 | 973.8700 | | (1,920,471,640.00) Client | Sell |
| 14:03:21 | \$ / R 13/08/2019 | Any day expiry | Р | 14.48 | 1 | 1,000 | 1,175 | 1,175,000 | 973.8700 | | (1,144,297,250.00) Client | Sell |
| 14:03:39 | \$ / R 13/08/2019 | Any day expiry | С | 16.35 | 1 | 1,000 | 1,972 | 1,972,000 | 146.2900 | | 288,483,880.00 Client | Buy |
| 14:03:39 | \$ / R 13/08/2019 | Any day expiry | С | 16.35 | 1 | 1,000 | 1,175 | 1,175,000 | 146.2900 | | 171,890,750.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 2,500 | 2,500,000 | 518.8300 | | 1,297,075,000.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 1,000 | 1,000,000 | 518.8300 | | 518,830,000.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 5,250 | 5,250,000 | 518.8300 | | 2,723,857,500.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 35,500 | 35,500,000 | 518.8300 | | 18,418,465,000.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 2,000 | 2,000,000 | 518.8300 | | 1,037,660,000.00 Client | Buy |
| 14:04:37 | \$ / R 09/05/2019 | Any day expiry | С | 13.72 | 1 | 1,000 | 1,250 | 1,250,000 | 518.8300 | | 648,537,500.00 Client | Buy |
| 14:05:34 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 60 | 60,000 | 13.8052 | | 828,312.00 Client | Buy |
| 14:05:34 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 60 | 60,000 | 13.8052 | | (828,312.00) Member | Sell |
| 14:05:57 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.8000 | | (27,600.00) Client | Sell |
| 14:05:57 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2 | 2,000 | 13.8000 | | 27,600.00 Client | Buy |
| 14:07:29 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 48 | 48,000 | 13.8000 | | 662,400.00 Member | Buy |
| 14:07:29 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 48 | 48,000 | 13.8000 | | (662,400.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8640 | | (6,932,000.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.8640 | | (13,864,000.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 2,625 | 2,625,000 | 13.8640 | | (36,393,000.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 625 | 625,000 | 13.8640 | | (8,665,000.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 17,750 | 17,750,000 | 13.8640 | | (246,086,000.00) Client | Sell |
| 14:08:45 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8640 | | (17,330,000.00) Client | Sell |
| 14:08:54 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.9600 | | 279,200.00 Client | Buy |
| 14:08:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8050 | | (276,100.00) Client | Sell |
| 14:08:54 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.9600 | | 279,200.00 Client | Buy |
| 14:08:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8050 | | (276,100.00) Client | Sell |
| 14:08:54 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.9600 | | 279,200.00 Client | Buy |
| 14:08:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8050 | | (276,100.00) Client | Sell |
| 14:08:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8050 | | (276,100.00) Client | Sell |
| 14:08:54 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.9600 | | 279,200.00 Client | Buy |
| 14:08:54 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.9600 | | 279,200.00 Client | Buy |
| 14:08:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8050 | | (276,100.00) Client | Sell |
| 14:08:55 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8055 | | (276,110.00) Client | Sell |
| 14:08:55 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 120 | 120,000 | 13.8051 | | 1,656,612.00 Member | Buy |
| 14:09:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8065 | | (138,065.00) Client | Sell |
| 14:09:02 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8065 | | 138,065.00 Member | Buy |
| 14:12:00 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 41 | 41,000 | 13.7990 | | (565,759.00) Client | Sell |
| 14:12:00 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 41 | 41,000 | 13.7990 | | 565,759.00 Member | Buy |
| 14:12:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8050 | | (13,805.00) Client | Sell |
| 14:12:23 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8050 | | 13,805.00 Member | Buy |
| 14:13:48 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.8040 | | 3,451,000.00 Member | Buy |
| 14:15:32 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 17,750 | 17,750,000 | 13.8365 | | 245,597,875.00 Client | Buy |
| 14:15:32 | \$ / R 09/05/2019 | Any day expiry | | 0.00 | 1 | 1,000 | 17,750 | 17,750,000 | 13.8365 | | (245,597,875.00) Member | Sell |

Page 6 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 14:15:34 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8150 | | (13,815.00) Client | Sell |
| 14:15:34 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8150 | | 13,815.00 Member | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.8365 | | (13,836,500.00) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8365 | | 6,918,250.00 Client | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8365 | | 17,295,625.00 Client | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 2,625 | 2,625,000 | 13.8365 | | 36,320,812.50 Client | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 2,625 | 2,625,000 | 13.8365 | | (36,320,812.50) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8365 | | (17,295,625.00) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,000 | 1,000,000 | 13.8365 | | 13,836,500.00 Client | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8365 | | (17,295,625.00) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8365 | | (6,918,250.00) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 625 | 625,000 | 13.8365 | | (8,647,812.50) Member | Sell |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 625 | 625,000 | 13.8365 | | 8,647,812.50 Client | Buy |
| 14:23:07 | \$ / R 09/05/2019 | Any day expiry | 0.00 | 1 | 1,000 | 1,250 | 1,250,000 | 13.8365 | | 17,295,625.00 Client | Buy |
| 14:24:00 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8163 | | (6,908,150.00) Member | Sell |
| 14:30:40 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.9823 | | (41,946.90) Member | Sell |
| 14:30:40 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.9823 | | 41,946.90 Client | Buy |
| 14:30:40 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.8273 | | 41,481.90 Client | Buy |
| 14:30:40 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3 | 3,000 | 13.8273 | | (41,481.90) Client | Sell |
| 14:32:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 2,292 | 2,292,000 | 13.6668 | | (31,324,305.60) Client | Sell |
| 14:32:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 4,375 | 4,375,000 | 13.6668 | | (59,792,250.00) Client | Sell |
| 14:32:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 120 | 120,000 | 13.6668 | | (1,640,016.00) Client | Sell |
| 14:32:37 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 82 | 82,000 | 13.6668 | | (1,120,677.60) Client | Sell |
| 14:33:16 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.8200 | | 69,100.00 Client | Buy |
| 14:33:16 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.8200 | | (69,100.00) Member | Sell |
| 14:33:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5,000 | 5,000,000 | 13.6760 | | (68,380,000.00) Member | Sell |
| 14:33:23 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5,000 | 5,000,000 | 13.6760 | | 68,380,000.00 Client | Buy |
| 14:38:58 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7420 | | 2,748,400.00 Client | Buy |
| 14:49:52 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 13 | 13,000 | 13.8010 | | 179,413.00 Member | Buy |
| 14:50:20 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 350 | 350,000 | 13.8046 | | (4,831,610.00) Client | Sell |
| 14:52:08 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 13 | 13,000 | 13.8010 | | (179,413.00) Client | Sell |
| 14:52:41 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.7930 | | 124,137.00 Member | Buy |
| 14:52:41 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.7930 | | (124,137.00) Client | Sell |
| 14:59:55 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.9557 | | (1,395,570.00) Member | Sell |
| 14:59:55 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.9557 | | 1,395,570.00 Client | Buy |
| 14:59:55 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8007 | | (1,380,070.00) Client | Sell |
| 14:59:55 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 29 | 29,000 | 13.9557 | | (404,715.30) Member | Sell |
| 14:59:55 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 29 | 29,000 | 13.9557 | | 404,715.30 Client | Buy |
| 14:59:55 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 29 | 29,000 | 13.8007 | | (400,220.30) Client | Sell |
| 14:59:55 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 371 | 371,000 | 13.8026 | | (5,120,764.60) Member | Sell |
| 15:00:12 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 207 | 207,000 | 13.8026 | | (2,857,138.20) Member | Sell |
| 15:01:00 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 707 | 707,000 | 13.8022 | | 9,758,155.40 Client | Buy |
| 15:03:58 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | (3,447,500.00) Client | Sell |

Page 7 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ S Put | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|----------------|--------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 15:03:58 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | 3,447,500.00 Member | Buy |
| 15:04:42 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 6 | 6,000 | 13.7844 | | (82,706.40) Client | Sell |
| 15:04:42 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 6 | 6,000 | 13.7844 | | 82,706.40 Member | Buy |
| 15:14:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7950 | | 137,950.00 Client | Buy |
| 15:14:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.7950 | | (137,950.00) Member | Sell |
| 15:16:37 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7900 | | (68,950.00) Member | Sell |
| 15:16:37 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.7900 | | 68,950.00 Client | Buy |
| 15:27:48 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 800 | 800,000 | 13.8056 | | (11,044,480.00) Member | Sell |
| 15:34:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7999 | | 689,995.00 Client | Buy |
| 15:34:47 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7999 | | (689,995.00) Member | Sell |
| 15:40:45 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7900 | | (689,500.00) Client | Sell |
| 15:40:45 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7900 | | 689,500.00 Client | Buy |
| 15:41:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,500 | 1,500,000 | 13.8250 | | (20,737,500.00) Client | Sell |
| 15:41:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,500 | 1,500,000 | 13.6264 | | 20,439,600.00 Client | Buy |
| 15:41:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,500 | 1,500,000 | 13.6264 | | (20,439,600.00) Member | Sell |
| 15:41:15 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1,500 | 1,500,000 | 13.8250 | | 20,737,500.00 Member | Buy |
| 15:42:30 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7900 | | 689,500.00 Member | Buy |
| 15:42:30 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7900 | | (689,500.00) Client | Sell |
| 15:45:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7800 | | 689,000.00 Member | Buy |
| 15:45:54 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.7800 | | (689,000.00) Client | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 186 | 186,000 | 289.1700 | | 53,785,620.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,351 | 1,351,000 | 289.1700 | | (390,668,670.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 186 | 186,000 | 289.1700 | | 53,785,620.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 561 | 561,000 | 289.1700 | | (162,224,370.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,641 | 1,641,000 | 289.1700 | | (474,527,970.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 9,511 | 9,511,000 | 289.1700 | | 2,750,295,870.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 9,511 | 9,511,000 | 289.1700 | | (2,750,295,870.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 9,511 | 9,511,000 | 289.1700 | | (2,750,295,870.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,351 | 1,351,000 | 289.1700 | | (390,668,670.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 561 | 561,000 | 289.1700 | | 162,224,370.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,150 | 1,150,000 | 289.1700 | | 332,545,500.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,150 | 1,150,000 | 289.1700 | | (332,545,500.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 561 | 561,000 | 289.1700 | | (162,224,370.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,641 | 1,641,000 | 289.1700 | | 474,527,970.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,641 | 1,641,000 | 289.1700 | | (474,527,970.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,150 | 1,150,000 | 289.1700 | | (332,545,500.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,641 | 1,641,000 | 289.1700 | | 474,527,970.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,150 | 1,150,000 | 289.1700 | | 332,545,500.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,200 | 1,200,000 | 289.1700 | | (347,004,000.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 9,511 | 9,511,000 | 289.1700 | | 2,750,295,870.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 561 | 561,000 | 289.1700 | | 162,224,370.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 186 | 186,000 | 289.1700 | | (53,785,620.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,351 | 1,351,000 | 289.1700 | | 390,668,670.00 Client | Buy |

Page 8 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Put | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|--------------|--------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 186 | 186,000 | 289.1700 | | (53,785,620.00) Member | Sell |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,351 | 1,351,000 | 289.1700 | | 390,668,670.00 Client | Buy |
| 16:03:56 | \$ / R 22/03/2019 | Any day expiry | С | 13.80 | 1 | 1,000 | 1,200 | 1,200,000 | 289.1700 | | 347,004,000.00 Client | Buy |
| 16:09:30 | \$ / R 16/09/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 14.0951 | | 70,475.50 Member | Buy |
| 16:09:30 | \$ / R 16/09/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 300 | 300,000 | 14.0914 | | (4,227,420.00) Client | Sell |
| 16:09:30 | \$ / R 16/09/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 295 | 295,000 | 14.0914 | | 4,156,963.00 Member | Buy |
| 16:13:27 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | 138,000.00 Client | Buy |
| 16:13:27 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 13.8000 | | (138,000.00) Client | Sell |
| 16:15:08 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2,500 | 2,500,000 | 13.6760 | | (34,190,000.00) Member | Sell |
| 16:16:37 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8000 | | (276,000.00) Client | Sell |
| 16:16:37 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 20 | 20,000 | 13.8000 | | 276,000.00 Member | Buy |
| 16:19:21 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8150 | | (690,750.00) Client | Sell |
| 16:19:21 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8150 | | 690,750.00 Member | Buy |
| 16:20:38 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.9600 | | (1,396,000.00) Client | Sell |
| 16:21:09 | \$ / R 16/09/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 14.1300 | | (70,650.00) Client | Sell |
| 16:21:09 | \$ / R 16/09/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 14.1300 | | 70,650.00 Member | Buy |
| 16:21:41 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8300 | | (13,830.00) Client | Sell |
| 16:21:44 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2,500 | 2,500,000 | 13.6810 | | 34,202,500.00 Member | Buy |
| 16:21:44 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 2,500 | 2,500,000 | 13.6810 | | (34,202,500.00) Member | Sell |
| 16:21:51 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 179 | 179,000 | 13.8300 | | (2,475,570.00) Member | Sell |
| 16:22:57 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8364 | | (691,820.00) Member | Sell |
| 16:22:57 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8364 | | 691,820.00 Client | Buy |
| 16:23:08 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 230 | 230,000 | 13.8370 | | (3,182,510.00) Member | Sell |
| 16:23:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 48 | 48,000 | 13.8350 | | 664,080.00 Client | Buy |
| 16:23:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 48 | 48,000 | 13.8350 | | (664,080.00) Member | Sell |
| 16:23:40 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8300 | | 1,383,000.00 Client | Buy |
| 16:23:40 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.8300 | | (1,383,000.00) Member | Sell |
| 16:24:22 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.8370 | | 2,767,400.00 Client | Buy |
| 16:24:38 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8370 | | 415,110.00 Client | Buy |
| 16:25:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.7272 | | (2,059,080.00) Client | Sell |
| 16:25:32 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.7272 | | (411,816.00) Client | Sell |
| 16:25:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 30 | 30,000 | 13.8300 | | 414,900.00 Client | Buy |
| 16:25:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 150 | 150,000 | 13.8300 | | 2,074,500.00 Client | Buy |
| 16:26:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.8300 | | 3,457,500.00 Client | Buy |
| 16:26:50 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.8300 | | (3,457,500.00) Member | Sell |
| 16:27:06 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8350 | | 345,875.00 Client | Buy |
| 16:27:06 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8350 | | (345,875.00) Member | Sell |
| 16:27:52 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8330 | | 345,825.00 Client | Buy |
| 16:27:52 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 25 | 25,000 | 13.8330 | | (345,825.00) Member | Sell |
| 16:30:12 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.8273 | | (124,445.70) Member | Sell |
| 16:30:12 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 9 | 9,000 | 13.8273 | | 124,445.70 Client | Buy |
| 16:34:42 | \$ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8240 | | (6,912,000.00) Member | Sell |
| 16:35:25 | \$ / R 14/06/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.9471 | | 6,973,550.00 Member | Buy |

Page 9 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Rate | Premium Value Trade Type | Buy/ Sell |
|-----------------|-------------------|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|--------------|-----------------------------|--------------|
| 16:35:25 | \$ / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.9471 | | (6,973,550.00) Member | Sell |
| 16:38:21 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 400 | 400,000 | 13.8000 | | (5,520,000.00) Member | Sell |
| 16:38:21 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 400 | 400,000 | 13.8000 | | 5,520,000.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 525 | 525,000 | 13.7900 | | (7,239,750.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7900 | | 1,379,000.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7900 | | 2,758,000.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | 3,447,500.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 125 | 125,000 | 13.7900 | | (1,723,750.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | 3,447,500.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3,550 | 3,550,000 | 13.7900 | | 48,954,500.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3,550 | 3,550,000 | 13.7900 | | (48,954,500.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 200 | 200,000 | 13.7900 | | (2,758,000.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 125 | 125,000 | 13.7900 | | 1,723,750.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 525 | 525,000 | 13.7900 | | 7,239,750.00 Member | Buy |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 100 | 100,000 | 13.7900 | | (1,379,000.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | (3,447,500.00) Client | Sell |
| 16:38:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7900 | | (3,447,500.00) Client | Sell |
| 16:42:19 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.8100 | | 69,050.00 Client | Buy |
| 16:42:19 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.8100 | | (69,050.00) Member | Sell |
| 16:50:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 13.8114 | | (13,811.40) Client | Sell |
| 16:51:13 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 5 | 5,000 | 13.8133 | | (69,066.50) Client | Sell |
| 16:51:33 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 56 | 56,000 | 13.8192 | | 773,875.20 Member | Buy |
| 16:51:33 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 50 | 50,000 | 13.8200 | | (691,000.00) Client | Sell |
| 16:58:01 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 8 | 8,000 | 13.8303 | | 110,642.40 Client | Buy |
| 16:58:01 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 8 | 8,000 | 13.8303 | | (110,642.40) Member | Sell |
| 17:00:48 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 800 | 800,000 | 13.8216 | | 11,057,280.00 Member | Buy |
| 17:07:36 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 500 | 500,000 | 13.8240 | | 6,912,000.00 Client | Buy |
| 17:20:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1,635 | 1,635,000 | 13.8098 | | 22,579,023.00 Member | Buy |
| 17:25:40 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7969 | | 3,449,225.00 Member | Buy |
| 17:25:40 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 250 | 250,000 | 13.7969 | | (3,449,225.00) Client | Sell |
| 17:30:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 818 | 818,000 | 13.8098 | | (11,296,416.40) Client | Sell |
| 17:30:17 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 817 | 817,000 | 13.8098 | | (11,282,606.60) Client | Sell |
| 17:31:48 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 11,000 | 11,000,000 | 13.8220 | | 152,042,000.00 Client | Buy |
| 17:31:48 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 11,000 | 11,000,000 | 13.8220 | | (152,042,000.00) Member | Sell |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 75 | 75,000 | 13.7762 | | 1,033,215.00 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 22 | 22,000 | 13.7762 | | 303,076.40 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 103 | 103,000 | 13.7762 | | 1,418,948.60 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 3,505 | 3,505,000 | 13.7762 | | 48,285,581.00 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 81 | 81,000 | 13.7762 | | 1,115,872.20 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1,927 | 1,927,000 | 13.7762 | | 26,546,737.40 Client | Buy |
| 17:52:54 | \$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 37 | 37,000 | 13.7762 | | 509,719.40 Client | Buy |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | P 13.29 | 1 | 1,000 | 449 | 449,000 | 14.1500 | | (6,353,350.00) Client | Sell |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | P 13.29 | 1 | 1,000 | 421 | 421,000 | 14.1500 | | (5,957,150.00) Client | Sell |

Page 10 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Put | Strike | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Premium Value Trade Rate Type | Buy/ Sell |
|----------------------|--------------------------------------|---|--------------|--------|-----------------|-----------------------------|----------|--------------------|--------------------|--|--------------|
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 15,205 | 15,205,000 | 14.1500 | (215,150,750.00) Client | Sell |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 321 | 321,000 | 14.1500 | (4,542,150.00) Client | Sell |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 161 | 161,000 | 14.1500 | (2,278,150.00) Client | Sell |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 8,347 | 8,347,000 | 14.1500 | (118,110,050.00) Client | Sell |
| 17:57:16 | \$ / R 21/02/2019 | Any day expiry | Р | 13.29 | 1 | 1,000 | 96 | 96,000 | 14.1500 | (1,358,400.00) Client | Sell |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 446 | 446,000 | 76.5300 | 34,132,380.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 8,371 | 8,371,000 | 76.5300 | 640,632,630.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 97 | 97,000 | 76.5300 | 7,423,410.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 15,220 | 15,220,000 | 76.5300 | 1,164,786,600.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 383 | 383,000 | 76.5300 | 29,310,990.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 322 | 322,000 | 76.5300 | 24,642,660.00 Client | Buy |
| 17:59:12 | \$ / R 21/02/2019 | Any day expiry | Р | 13.55 | 1 | 1,000 | 161 | 161,000 | 76.5300 | 12,321,330.00 Client | Buy |
| Total Futu | res | | | | 176 | | 131,347 | 131,347,000 | | 1 810 911 603.85 | |
| Total Option | ons | | | | 33 | | 150,455 | 150,455,000 | | 0.00 | |
| Total for \$ | / R Any day expiry | | | | 209 | | 281,802 | 281,802,000 | | 48,375,378,593.85 | |
| 10:23:04 | £/R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 17.7000 | 88,500.00 Client | Buy |
| 10:23:04 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 17.7000 | (88,500.00) Member | Sell |
| 11:24:13 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.7042 | 17,704.20 Member | Buy |
| 11:24:25 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.7042 | (17,704.20) Client | Sell |
| 12:48:35 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.8000 | (17,800.00) Client | Sell |
| 12:48:35 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.8000 | 17,800.00 Member | Buy |
| 13:12:15 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.8400 | 17,840.00 Member | Buy |
| 13:12:15 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 1 | 1,000 | 17.8400 | (17,840.00) Client | Sell |
| 13:22:34 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 1 | 1,000 | 60 | 60,000 | 17.8700 | 1,072,200.00 Client | Buy |
| 13:22:34 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 60 | 60,000 | 17.8700 | (1,072,200.00) Member | Sell |
| 14:13:38 14:13:38 | £ / R 18/03/2019 £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 1 | 1,000 1,000 | 2 2 | 2,000 2,000 | 17.8433 17.8433 | 35,686.60 Member (35,686.60) Client | Buy Sell |
| 14:13:36 | £ / R 18/03/2019 | Foreign Exchange Future Foreign Exchange Future | | 0.00 | 1 | 1,000 | 15 | 15,000 | 17.8522 | 267,783.00 Member | Buy |
| 14:22:36 | £ / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 15 | 15,000 | 17.8522 | (267,783.00) Client | Sell |
| Total Futu | res | | | | 7 | | 85 | 85,000 | | 1 517 513.80 | |
| Total Option | ons | | | | | | | | | | |
| Total for £ | / R Foreign Exchang | e Future | | | 7 | | 85 | 85,000 | | 1,517,513.80 | |
| 10:19:42 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 15.5300 | 77,650.00 Client | Buy |
| 10:19:42 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 5 | 5,000 | 15.5300 | (77,650.00) Member | Sell |
| 10:38:51 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.5058 | 155,058.00 Client | Buy |
| 10:38:51 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.5058 | (155,058.00) Member | Sell |
| 10:40:24 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.4961 | (154,961.00) Member | Sell |
| 10:40:24 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.4961 | 154,961.00 Client | Buy |
| 10:40:49 | € / R 18/03/2019 | Foreign Exchange Future | | 0.00 | 1 | 1,000 | 15 | 15,000 | 15.4960 | (232,440.00) Member | Sell |

Page 11 of 12 2019/02/11, 20:45:06

| Matched Time | Contract Details | Product | Call/ Strike Put | No of Trades | Nominal Underlying Value | Quantity | Foreign Nominal | Traded Price | Spot Premium Va Rate | lue Trade Type | Buy/ Sell |
|-----------------|--|-------------------------|---------------------|-----------------|-----------------------------|----------|--------------------|-----------------|-------------------------|-------------------|--------------|
| 10:40:49 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 15 | 15,000 | 15.4960 | 232,440 | 00 Client | Buy |
| 12:54:58 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 15 | 15,000 | 15.6313 | (234,469 | 50) Member | Sell |
| 12:54:58 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 15 | 15,000 | 15.6313 | 234,469 | 50 Client | Buy |
| 13:07:41 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.6177 | 156,177 | 00 Member | Buy |
| 13:07:41 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.6177 | (156,177. | 00) Client | Sell |
| 13:49:01 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.6540 | 156,540 | 00 Member | Buy |
| 13:49:01 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 10 | 10,000 | 15.6540 | (156,540 | 00) Client | Sell |
| 14:49:23 | € / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 14 | 14,000 | 15.9571 | (223,399 | 40) Member | Sell |
| 14:49:44 | € / R 14/06/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 14 | 14,000 | 15.9571 | 223,399 | 40 Client | Buy |
| 14:57:14 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 140 | 140,000 | 15.6441 | (2,190,174 | 00) Client | Sell |
| 14:57:14 | € / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 140 | 140,000 | 15.6441 | 2,190,174 | 00 Member | Buy |
| Total Futu | | | | 9 | | 229 | 229,000 | | 3 580 868 | .90 | |
| Total Opti | ons | | | | | | | | | | |
| Total for € | / R Foreign Exchang | e Future | | 9 | | 229 | 229,000 | | 3,580,868 | .90 | |
| 11:51:39 | AU\$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 9.7230 | (9,723. | 00) Client | Sell |
| 11:51:39 | AU\$ / R 18/03/2019 | Foreign Exchange Future | 0.00 | 1 | 1,000 | 1 | 1,000 | 9.7230 | 9,723 | 00 Member | Buy |
| Total Futu | ires | | | 1 | | 1 | 1,000 | | 9 723 | .00 | |
| Total Opti | ons | | | | | | | | | | |
| Total for A | tal for AU\$ / R Foreign Exchange Future | | | 1 | | 1 | 1,000 | | 9,723 | .00 | |
| Total Futu | ires | | | 193 | | 131,662 | 131,662,000 | | 1 816 019 709 | .55 | |
| Total Opti | ons | | | 33 | | 150,455 | 150,455,000 | | 0 | .00 | |
| Grand To | otal for all Instrume | nts | | 226 | | 282,117 | 282,117,000 | | 48,380,486,699 | .55 | |

Page 12 of 12 2019/02/11, 20:45:06